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Part one: Obligatory set – Using Concepts and Techniques (7 points) 
1. Differentiate, using one characteristic, between vertical social mobility and social promotion then give one example 
of each to show this difference.           (1 pt) 
 

2. Show the relation between the following concepts, giving an example about each: 
a. The value system and social adaptation       (½ pt) 
b. Social Policy and Social integration        (½ pt) 

 

3. Indicate if the following statements are true or false and justify your answer: 
a. The value of the human being is an absolute value in human societies    (½ pt) 
b. The criteria of social inequality differ from one society to another    (½ pt) 
c. The value system that contributes in the cohesion of a society might have been criticized  
     by this same society during a different stage of its evolution     (½ pt) 
d. Opening up to different cultures leads to a change of the social status of individuals in the society.(½ pt)  

 

4. Copy the table on your answer sheet and then fill in the empty cells, the following steps of research,  
    according to their methodological sequence:  determination of the survey technique, collection and  
    classification of results, specification of the research objectives, writing the report.   (1 pt) 
1.    2. Defining the problem 

(or subject) and stating 
the hypothesis 

3. 4. 5. Analyzing the 
data and 
explaining them 

6. 

 

5. Through your participation in a social survey about the evolution of the family in Lebanon, you were 
   asked to prepare a questionnaire addressed to newly weds tackling the following points: Decision making – 
   Criteria for choosing a spouse – Domestic chores – Social and fun activities. 
   Write two close-ended questions, one double choice question and one with three alternative answers,  
    that specify the opinion of newly weds for each of the above mentioned points.    (2 pts) 
 
Part two: Choose one of the following sets 
First choice set: Analyzing documents         (12 points) 

Document no.1: 
The Millennium Development Goals include a selection of numerical and time-bound targets that encapsulate people’s 
most basic aspirations for a better life. Between 1990 and 2015, countries agree to halve income poverty and hunger; 
achieve universal primary education; reduce under-five mortality by two thirds; cut maternal mortality by three-
quarters; combat HIV/AIDS, malaria and tuberculosis; ensure environmental sustainability; and build a global 
partnership for development. 
The Arab countries have made progress towards many of the Millennium development Goals such as health and 
education between 1970 and 2001. This progress has been uneven across the Arab region and within each Arab 
country. 
Source: The Millennium Development Goals in Arab Countries-Towards 2015: Achievements and aspirations-UNDP-New York- 
      December 2003 

Document no.2: 
A- Evolution of the illiteracy rate in Lebanon between 1970 and 2001: 
Indicator 1970 1996 1997 2000 2001 
Illiteracy rate 31.8% 13.6% 11.6% 10.3% 8% 
B- With respect to poor children in Lebanon:  
- Around 17.6% are out of School 
- 4% of them aged between 10 and 14 years are working or looking for work 
- The majority of them live in large families. 52.2% live in families of 6 to 9 children and 33.3%  live in  
   families of 10 children 
Source: ص.۲۰۰٤متحدة ووزارة الشؤون، بیروت الوضع الاجتماعي الاقتصادي في لبنان، واقع وأفاق، الأمم ال ،  



Document no. 3: Lebanese citizens Health Insurance coverage ratio  
Health Insurance coverage 1997 2000 
Insured 42% 43.4% 
Non-insured 58% 56.6% 
Source: ص.۲۰۰٤ارة الشؤون، بیروت الوضع الاجتماعي الاقتصادي في لبنان، واقع وأفاق، الأمم المتحدة ووز ،  

Document no.4: 
Since the end of the Civil war, Lebanon has made great strides towards rebuilding its infrastructure and maintaining its 
internal stability. In spite of these considerable achievements, however, Lebanon’s mission is far from accomplished. 
The poor and near-poor are particularly vulnerable during periods of economic adjustment. Even when a country 
manages to successfully shelter the economy against crisis, the poor still suffer disproportionately from the impact of 
fiscal contraction. This requires a concerted policy to mitigate the adverse consequences on these segments of 
societies. This is not only necessary for its own sake, but also a way to build social consensus. 
Source: Lebanon Quarterly Update-The World Bank Group-first Quarter 2004-P. 3-4 

Referring to the above four documents, answer the following questions: 
1. Document no.1 presents the development goals of the millennium plan 

a. Deduce the three domains in which these goals can be included     (3/4 pt) 
b. Describe the situation of the Arab World with respect to these domains    (3/4 pt) 

2. Document no.2: 
a. Expose the situation of education in Lebanon which reflects the achievement of one of  
    the goals Justify your answer by one proof from the document.     (1 pt) 
b. Part B of the document reflects two Social phenomena. Deduce them and define their causes. (1½ pt) 

3. Document no.3: Deduce the problem exposed and specify its major cause.    (1 pt) 
4. Document no. 4:  Extract one positive and one negative effect of the social policy applied in Lebanon  
    since the end of the civil war.           (1 pt) 
5. Referring to documents 1 and 4, evaluate the efficiency of the social policy in achieving the  
    development goals.            (1 pt) 
6. Based on the development goals and on the data provided by the documents: Write a paragraph  
    to explain the process of development in Lebanon, clarifying the positive aspects and the obstacles,  
    specifying the responsible faction, and suggest three measures to improve this situation.    (5 pt) 
 
Second choice set: Studying a social subject         (12 points) 
Document no.1: 
The effect of regional disparity on social integration brings us to another level of analysis and intervention. In this 
sense, disparity results in a process of social repulsion that takes a regional dimension in Lebanese circumstances 
…this leads to reflect on the most efficient mechanisms to improve social and national integration, in view of 
indicators of the disintegration that is spreading in the country on different levels. 

 ۹۸ص : الخصائص السكانیة والواقع الاقتصادي والاجتماعي، أقضیة لبنان، وزارة الشؤون الاجتماعیة وبرنامج الأمم المتحدة الإنمائي، بیروت، المصدر
Document no. 2: 
The percentage of Beirut’s population is 36% from the total Lebanese population with an annual growth rate of 2%. 
However, the ideal ratio for the population of capitals in developed countries is around a tenth of the total population, 
which means that Beirut exceeds three times this ratio…. Although the growth of modern capitals and major cities in 
the third world is increasing rapidly nowadays, Beirut’s rates of growth are faster and this is not a good characteristic 
but rather shows underdevelopment…. 

 ۷۹، ص ۲۰۰۰ الاجتماعیة وبرنامج الأمم المتحدة الإنمائي، بیروت : التغیرات السكانیة والھجرة الداخلیة للسكان في لبنان، وزارة الشؤونالمصدر
 
Demographic mobility is one of the social phenomena faced by the Lebanese society during the 20th century. 
Referring to the two documents and to your acquired knowledge, discuss, in an essay this subject according to the 
following points: 

- The situation of demographic mobility in Lebanon 
- Its causes, problems and demographic, economic and social consequences 
- The policy and measures that should be applied to reduce the negative consequences 
- The expected results and effects on the Lebanese society 

 
Remark: Clear and neat presentation (½ pt) – Readable handwriting (1/4 pt) – Style (1/4 pt) 



 العادیة ٢٠٠٥دورة سنة  – مسابقة الاجتماع
 والتثقیل الإجابةمعاییر 

 نقاط) ٧(: استعمال مفاهیم وتقنیات                     الأولى الإلزامیةالمجموعة 
هبوطا ، بینما  أوالحراك الاجتماعي العمودي هو أي تغییر في وضعیة الفرد الاجتماعیة صعودا :  الأولالسؤال 

 ماعي هو تغییر صاعد في وضعیة الفرد الاجتماعیة فقط .الترقي الاجت
الترقي فقط فیما یتعلق ب یتناول الصعود والهبوط فیما یتعلق بالحراك الاجتماعي ، والصعود أنالمثل : یجب 

  .الاجتماعي
  ٤/١كل مثل : نقطة       ٢/١التمییز : 

 السؤال الثاني :
مرونة الفرد  إن أوخل الجماعة علیه مشاركتها بدرجة مقبولة في قیمها / انخراطه دا أوكي ینجح الفرد في تكیفه  –أ 

التعارض بین قیم جماعة الانتماء وجماعة المرجع یعیق تكیف الفرد  إن أوالعكس /  أوتساهم في تكیفه الاجتماعي 
 الاجتماعي .

الاندماج الاجتماعي  ان أولاجتماعي / السیاسة الاجتماعیة هي التدابیر التي تتخذها الدولة لتوفیر الاندماج ا إن –ب 
 السیاسات التي تتخذها الدولة . أویتوقف على التدابیر 

  ٤/١المثل :     ٤/١العلاقة : 
 السؤال الثالث :

لان المجتمعات الحدیثة تركز على  أولان قیمة الفرد في المجتمعات التقلیدیة تنبع من قیمة الجماعة / خطأ ،  –أ  
 ل انجازاته و . . قیمة الفرد من خلا

بینما في المجتمع  الإنتاجالطبقي الحدیث ترتكز على ملكیة وسائل  المجتمعصح ، لان معاییر التفاوت في  –ب 
 الطائفة المغلقة ( الدین )  أوالعبودي   ( ملكیة الفرد ) /  أو/  الأرضترتكز على ملكیة  الإقطاعي

 . ملاحظة : یجب ان یذكر مجتمعین لیبرز الاختلاف
التخلي عن بعض قیمها التي تصبح تقلیدیة في  إلىصح ، لان المجتمعات تتبنى قیما في مراحل معینة تضطر  –ج 

  . بسبب الصراع بین القیم الوافدة والقیم المحلیة أولان القیم تتطور بتطور المجتمعات /  أومرحلة لاحقة / 
ح لهم بالتواصل مع المجتمعات المغایرة مما ینعكس على ویسم الأفرادیوسع دائرة التلقي لدى بعض  لأنهصح ،  –د 

 من غیره . أكثرواقعه فیؤهله 
  ٤/١التبریر       ٤/١الصحیحة ( صح أم خطأ )  الإجابة
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 السؤال الرابع :
تجمیع النتائج  – ٤  - ٥ صیاغة التقریر-٦

 وجدولتها 

تحدید موضوع  - ١  - ٢ البحث  أداةصیاغة  – ٣
 البحث 

  ٤/١صحیحة في خانتها المناسبة   ةإجابكل 
      لسؤال الخامس :ا

 ، عمل الشریك . . .  الإنفاق، اختیار السكن ،  الأولاداتخاذ القرارات : تعلیم  -
 الاختیار وكیفیته . الجهة المسؤولة عناختیار الشریك :  معاییر -

 . . . شراء الحاجیات ، التنظیف ، الطبخ ، الأولادالمنزلیة : رعایة  الأعمال -

نزهات  ،الأصدقاءالاجتماعیة والترفیهیة : ریاضیة ، ثقافیة ، زیارات وواجبات اجتماعیة ، سهرات مع  الأنشطة -
 ، سینما . . . 

  نقطة . ٤/١كل سؤال صحیح وهادف 
 والمضمون  والأسلوبیكون هادفا وغیر متكرر من حیث الصیاغة  أنلكي یعتبر السؤال صحیحا یجب 

 نقطة ) ١٢: تحلیل مستندات اجتماعیة               (  الأولىریة المجموعة الاختیا
 نقطة . ٤/١.      كل مجال فقر ، تعلیم ، صحة  –أ  – ١

والتقدم   نقطة ٤/١التقدم متفاوت بین الدول العربیة نقطة   ٤/١تقدمت الدول العربیة تقدما ملحوظا .  –ب     
  نقطة ٤/١ متفاوت ضمن الدولة الواحدة 

 نقطة ٢/١  %٨:  ٢٠٠١%  بینما في ٣١،٨:  ١٩٧٠عام   ، الدلالة: نقطة ٢/١ : الأمیةانخفاض نسبة  -أ – ٢
  نقطة ٢/١:  الأطفال، عمالة    نقطة ٢/١عدم الالتحاق بالمدرسة :  أوالتسرب المدرسي /  –ب 

    نقطة ٤/١:  الأسرة، كبر حجم نقطة  ٤/١: : الفقر  الأسباب
  نقطة ٢/١ ضعف السیاسات الاجتماعیة او تقصیر الدولة :السبب، نقطة ٢/١ضمان الاجتماعي:عدم شمولیة ال – ٣
   نقطة ٤/١  :والاستقرار الداخلي   نقطة ٤/١ : بناء البنى التحتیة إعادةالایجابي : الأثر – ٤

  نقطة ٢/١     . من آثار التقشف الاقتصادي الفقراء معاناةالسلبي :  الأثر    
لم یتحقق هذا الهدف فما زال بعید  ٤هو خفض نسبة الفقر وفي المستند رقم  الأولالهدف  ١مستند رقم في ال – ٥

   نقطة  المنال 
  نقطة ٢/١التنمویة  الأهدافالانطلاق من  – ٦

 نقطة . ٤/١،وفي البنى التحتیة  نقطة ٤/١ الأمیةانخفاض نسبة  أو: تقدم في مجال التعلیم  الایجابیات : الواقع
یجب ان  نقطة )(  الأسرة، كبر حجم  الأطفالالفقر ، عدم شمولیة الضمان ، التسرب المدرسي ، عمالة  المعوقات :

 الأقلیذكر اربعة معوقات على 
 نقطة ٢/١والایجابیات :  الأهدافالربط بین  ملاحظة :
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 نقطة ٢/١ : الدولة   الجهة المسؤولة
ومجانیة التعلیم ، توسیع دائرة المدارس لتشمل المناطق الفقیرة  امیةإلز على صعید التعلیم : تطبیق :  الإجراءات

 . . .  للأسروتوعیة  إرشاددورات والمهمشة ، 
 الضمان .  یةشمول أوصیغة توافقیة تؤمن التغطیة الصحیة لجمیع اللبنانیین /  إیجادعلى صعید الصحة : العمل على 

الفقر من  أسباب، العمل على القضاء على  الأطفالالذي یمنع عمل  على صعید الفقر: تنظیم النسل ، تطبیق القانون
 المرتبة الوسطى . إلىخلال برامج وسیاسات تستهدف الفقراء وتساعد على تدرجهم 

     نقطة   ٢/١نقطة            ترابط النص  ٢/١صحیح ومناسب  إجراءكل 
 نقطة )  ١٢(                  المجموعة الاختیاریة الثانیة : دراسة موضوع اجتماعي      

 المضمون  المنهجیة 
 )١ ٢/١ ( وأجزاؤهاالمقدمة 

 الموضوع  أهمیة
 

 المكاني والزماني الإطار
  الإشكالیة

 
 التصمیم

 )١ ٢/١ ( 
 المدینة أي الحراك السكاني إلىالمشكلة التي یطرحها حجم النزوح من الریف  -

 ) .٤/١ (  
  )٤/١. ( بیروت في القرن العشرین العاصمة إلىفي لبنان من الریف  -
السلبیة للنزوح على الاندماج الاجتماعي وعلى التفاوت المناطقي /  الآثار -

  )٢/١. ( إتباعهاالواجب  الإجراءاتكیف یمكن الحد من المشكلة وما هي 
   )٢/١. ( ةالمقترح، انعكاساتها ، الحلول  أسبابهاالظاهرة وعناصرها ،  -

  )اننقطت(جسم الموضوع : 
 الظاهرة وعناصرها  -
 
  أسبابها -
 
 
 انعكاساتها  -
 
 
 
 
 
 

 نقاط) ٥(
نزوح  – )المدینة ( العاصمة بیروت  إلىالحراك السكاني : النزوح من الریف  -

 )٢/١. ( دائم  أوعائلي ، مؤقت  أوفردي 
تراجع  أوالریف  إهمال ( ، )٤/١) ( تفاوت مناطقي أوغیر متوازن  إنماء ( -

، مركزیة الخدمات ) ٤/١(، ضعف فرص العمل  )٤/١) ( القطاع الزراعي
  )٤/١. ( الاجتماعیة ، المركزیة الاقتصادیة والمالیة

%  سنویا ) یقابله انخفاض ٢: نمو سكاني في العاصمة المستقبلة (  دیمغرافیا -
ازدحام  أوید العاصمة نسبة النمو في المناطق المصدرة للنازحین ، تحش

  )٢/١سكاني(
نسبة  ازدیاد حدة التفاوت الاقتصادي والاجتماعي والمناطقي ، تراجع اقتصادیا : -

تضخم  البؤس، أحزمةالزراعة وتردي المستوى المعیشي في الریف وفي  العاملین في
 )٢/١( نسبة العاملین في القطاع الخدماتي والتجاري .

 : اجتماعیا -
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 الحلول -
 
 
 

 النتائج المتوخاة 

البؤس ، النبذ ، التهمیش ، نقص في الخدمات ،  أحزمة:  السلبیة الانعكاسات 
 )٢/١( العشوائیة ، ترییف المدینة . الأحیاء

: ترقي اجتماعي ، اقتصادي ، ثقافي تمدین الریف نتیجة  الانعكاسات الایجابیة 
 )٢/١( التواصل والانفتاح .

 المناطقي المتوازن، الإنماءلیة : التا الإجراءاتاعتماد سیاسة اجتماعیة تتبنى  -
قطاعي الزراعة والصناعة ، تامین فرص عمل في المناطق الریفیة ،  إنماء

 أن) یجب ١( ات الاجتماعیة والصحیة والثقافیة.تحقیق لا مركزیة الخدم
 حلول  ٣ الأقل ىیذكر عل

تفعیل الاندماج الاجتماعي في المناطق ، الحد من النزوح ، تخفیف الضغط  -
الریف ، الاستقرار الاجتماعي والاقتصادي في  إنعاشعن العاصمة عبر 

  )٢/١( .الریف 
 )٢/١( الخاتمة 
  الإشكالیةعلى  الإجابة

 
 تلخیص الموضوع 
 فتح آفاق جدیدة 

 ) ١ ٢/١( 
الحد من الظاهرة دون اعتماد سیاسات اجتماعیة متكاملة وجذریة  إمكانیةعدم  -

. 
 السابق ذكرها  الأجزاء -

جدیدة مثلا : تعزیز ایجابیات التواصل بین الریف والمدینة دون  تفتح آفاق أسئلة - 
 تكریس واقع النزوح 

 
 

 نقطة . ٤/١سلوب نقطة ، صیاغة الأ ٤/١، خط مقروء  نقطة ٢/١الشكل : ( نقطة واحدة ) تنظیم المسابقة  
 . هذا التقسیم لعلامة الشكلب الالتزامعلى المصحح ملاحظة : 
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